
x

q C \
X Z

=
x2

\
x

∂u q C \
Y [

X Z

= u
x
q C \ = u x

−
q

x2

−
\ = u ∗ xX Z x2

−
\ =

x2

∂u ∗ x\
X Z

∂u ∂v q C \
Y [

= ∂u v ∗ xX Z q C
−
\

X Z

Y [

= u ∗ vX Z q C
−
\

X Z

+ u ∗ xX Z v ∗ xX Z q C =\
X Z

x2La = xL(x ∗ a) = xLu
i
u

i
L(x ∗ a) = xLu

i

(
u

i
∗ a

)
Lx

∂ui
∂ui ∗ a

∂ui
∂ui ∗ a q C \

Y [
= u

i
∗

(
u

i
∗ a

)X Z

q C
−
\

X Z

+ u
i
∗ x

X Z
(
u

i
∗ a

)
∗ x

X Z

q C =\
X Z

−1

e + x
X ZLu =

∂u∆ (e + x)

∆ (e + x)

∑
j
1

u
i
∗

(
u

i
∗ a

)X Z

Lb
j
1

yLb
j
1

=
∑
j
1

aLb
j
1

yLb
j
1

∑
j
1
6= j

2

u
i
∗ x

X ZLb
j
1

yLb
j
1

(
u

i
∗ a

)
∗ x

X Z

Lb
j
2

yLb
j
2

=
∑

j
1
6= j

2

x ∗ b
j
1

Y [
L a ∗ x ∗ b

j
2

X Z

Y [

yLb
j
1

Y [
yLb

j
2

Y [


